residual mean square
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It is an estimate of the variance of experimental errors:

Regression Summary for Dependent Variable: y (regrl)
R=.95061604 R?= .9036
&2 — SZ — 52 F(1,4)=37.524 p<.0036Q_Std.Error of estimate: .62136
y y r Beta ‘ Std.Err. B SaET. @) p-level
N=6 of Beta ‘ ofB
Intercept 0.05196 0.504033 0.103084 0.922858
X 0.950616| 0.155185| 32.01651 5.226581  6.125708  0.003598
- - ~ pr—
Properties of the estimators: Y, =a+b(x —X)
Y, ZOH‘IB(Xi _X)
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How could this be decreased?

n, o2, x (allocation)

Estimates of the variances — Standard deviations

s is substituted for o7

2
Var(a)= % Sa =
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Confidence band: Where does the true line lie?
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Can the measurements fall out of this band?

Prediction band: Where can a new measurement fall?

Y oSy <Y <Y 08 -y

S..,=S5 1+— (X X)

y =Y r Z(X —X)Z \/Sr2 +S: +S§(X_)_()2
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Comparison of the confidence and prediction bands

blue — confidence band
red — prediction band

Scatterplot (regrl 3v*6c)
y=0.052+32.0165*x; 0.95 Conf.Int.; 0.95 Pred.Int.
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